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T8 J%m‘?n)c’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
Ztg; 0 17.0 33.0 45.0 55.0 66.0 7.0l 1010l 125.0 168.0]  203.0
=] == ]_
43 |TrEEEL 0.9 1.7 2.3 2.8 3.4 3.9 5.1 6.4 8.6 10.3
(kg f/
=] == ]_1:
‘E}M@?ﬁ) 0 0.085| 0.165| 0.225 0.275] 0.330] 0.385] 0.504] 0.624| 0.839| 1.014
Z{gg 0 29.0 69.0| 121.0 1710 219.0 269.0 352.0 427.0] 565.0| 674.0
=] == ]_
4 |CrREEL 1.5 3.5 6.2 8.7 11.2 13.7 17.9 91.8 98.8 34.3
(kg f/
=] == ]—I:
?Mgfjﬂ; 0 0.145|  0.345]  0.604] 0.854] 1.004] 1.343]  1.7s8|  2.132|  2.821]  3.366
(Skgf) 0 31.0 go.o| 169.0 255.0 320.0 392.0 504.0 617.0] 832.0| 994.0
=] == ]—I:
5 |TrEEEL 1.6 4.5 8.6 13.0 16.8 20.0 95.7 31.4 424 50.6
(kg f/
=] == ]—I:
?Mﬁ/zr)nj)_ 0 0.155|  0.444| 0.844] 1.273] 1.643] 1.958] 2.517 3.081] 4.155| 4.964
17 3 (2.5m) g'g <100 = 4.8% 5. Omm 100°63 <100 = 6.1%
42 3 (2.5m) é'; <100 = 15.8% 5. Omm 120°13 <100 = 20.7%
92 3 (2.5m) é'g <100 = 23.8% 5. Omm 130°13 <100 =  29.9%
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T | IEEDS%) | 100.0 | 100.0 | 100.0 | 96.4 | 95.1 | 93.3 | 89.0 |64.2 | 45.1 | 276 | 19.9 13.9 11.8
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(2 7|74IA|E+RJI)$31| : 692.21 g E98 2=l (w) : 7.1%
|2 : 577.00 g o9 (Gs) : 2.631
SIAZAZFA W, : 115.21 g 28X (PI) - N.P =AM TAMUES
AXZAIZ2H : Ws=100Ws /(100+w) : 115.12 ¢
P2.0(2Zd2.0mmolMS JIMSUS: 64.2%
1. 2IAHZAIZO &4H = (XA 4=H|)
NO @ 1 NO : 2 NO : 3
WW = 1151.9 WW = 1079.7 W =
DW = 1087.8 Tw = 174.8 oW = 1021.9 Tw = 206.4 oW = Tw =
Ww = 64.1 Ws = 913 Ww = 57.8 Ws = 815.5 Ww = Ws =
= 7.0% = 7.1% W=
= gl 7.1%
2. HISH A8
== Z AR HSoeS EEREENEEE] = Al A o . o 2E
SEAZ t(min) | A28= r' S520ILm) | L/t N L/t  (30n)/g(rs—rw) | %ICH&IZD(mm) SENTE  |EEdT) rH |rasas SR
9:01 1 0.0140f 0.0140 142.3 142.3 11.9290 0.0040 0.0482 25 0.0020f 0.0160 22 4% 10.5%
9:02 2 0.0130f 0.0130 144 .2 72.1 8.4922 0.0040 0.0343 25 0.0020f 0.0150 21.0% 9.9%
9:05 5 0.0120f 0.0120 146.2 29.2 5.4068 0.0040 0.0218 25 0.0020f 0.0140 19.6% 9.2%
9:15 15 0.0110f 0.0110 148. 1 9.9 3.1422 0.0040 0.0127 25 0.0020f 0.0130 18.2% 8.6%
9:30 30 0.0100f 0.0100 150.0 5.0 2.2364 0.0040 0.0090 25 0.0020f 0.0120 16.8% 8.0%
10:00 60 0.0090f 0.0090 152.0 2.5 1.5915 0.0040 0.0064 25 0.0020f 0.0110 15.4% 7.4%
13:00 240 0.0080f 0.0080 153.9 0.6 0.8008 0.0040 0.0032 25 0.0020f 0.0100 14.0% 6.8%
9:00 1440 0.0070f 0.0070 155.8 0.1 0.3290 0.0040 0.0013 25 0.0020] 0.0090 12.6% 6.1%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) Sietol 1 & AXAIZ22A 12:2E 25O B1OA =24 1.0507 X 2 20l (mm) 10.87
b : X 2229 20l(mm) 136.84
1/(Ws/V)= 8.69 cm/g Gs/(Gs-0.99678)*rw 1.610 g/cm Vb —‘?—E 2Ll 21 (em) 57.50
A HAASIGS SHHE (o) 58.84
3. MotE
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o &=E MRS RE IIMENE |BEHIIIE S8
0.85mm(NO.20) 1 437.3 471.5 34.20 29.7% 29.7% 70.3% 45.1%
0.425mm(N0.40) 2 369.7 401.1 31.40 27 .3% 57.0% 43.0% 27.6%
0.25mm(N0.60) 3 380.0 393.8 13.80 12.0% 69.0% 31.0% 19.9%
0.106mm(NO. 140) 4 345.1 355.9 10.80 9.4% 78.4% 21.6% 13.9%
0.075mm(NO.200) 5 354.6 358.4 3.80 3.3% 81.7% 18.3% 11.8%
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_ NO.10KIO 2S AlEE 22 4]
HHAZO ZIAHER
HHAZe S| W) CHEAZI A (W)
A2
B (RMUZIAZANE+EI]) 3790.5 g Wi+ 2 A 1,770.2 g
27129 747.3 g 2712 747.3 g
HMHA 2O DIHE2H (W) 3043.2 g W1 1,022.9 g
1. 2mmXl SUAI=9 &=H =3
NO 1 NO p) NO
W 772.9 w 759.6 W
Dw 736.5 Tw 180.3 Dw 724 .1 Tw 179.8 Dw
Ww 3.4 Ws 556.2 Ww 35.5 Ws 544.3 Ww
W= 6.5% W= 6.5% W=
BIESAH 6.5%
2. MHAZAIZSAH(WO) = W/ (14w) 2856.6
3. 2mkl SVUAZA2LH (W)= W2=WO-W1 1833.7 g 1833.7
4. P2.0(LY2.0mOINS JIEEDS)= W2/Wo 64.2% 44 2%
5. 2mmE ol 22 A2 MEA
Ak 1 2 1 2=1/W0
- - o N SN o, k| k|
MosEsl BARA | g | eww | ¥FER| uss | sas
75.0mm 1 437 .10 437.10 0.00 | 0.0% | 0.0% | 100.0%
53.0mm 2 461.90 461.90 0.00 | 0.0% | 0.0% | 100.0%
37.5mm 3 471.60 471.60 0.00 | 0.0% | 0.0% | 100.0%
26.5mm 4 469.50 571.50 | 102.00 | 3.6% | 3.6% | 96.4%
19.0mm 5 456.80 494.60 | 37.80 | 1.3% | 4.9% | 95.1%
9.5mm 6 489.70 540.30 | 50.60 | 1.8% | 6.7% | 93.3%
4.75mm 7 524.00 648.90 | 124.90 | 4.4% | 11.0% | 89.0%
2.0mm 8 431.10 1138.70 | 707.60 | 24.8% | 35.8% | 64.2%
* AXANZ2N: 1022.90 g
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